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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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What do you mean by Industrial relations ? Describe its main characteristics.

(15)
OR

Discuss the different factors that affect the Industrial Relations of any
organization. (15)
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(a) What are the consequences of Industrial Dispute ? Explain. (5

(b) Define Industrial Dispute. Distinguish between workers complaints, grievances

and disputes. (10)
OR

“Industrial dispute is not a dispute of individuals only.” Do you agree with the

statement ? Explain. (15)
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“Prevention of disputes is good for industrial peace”. Elucidate this statement and

explain the methods of prevention of industrial disputes. (15)
OR

“Industrial peace is the essential pre condition for planned development.” Explain

your opinion on this statement.
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4. Discuss the working of judiciary machinery in India for settlement of Industrial
disputes. (15)
OR

What is the difference between compulsory adjudication and arbitration ? Explain
how do they supplement each other. (15)
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5. Write short note on any three of the following :
(a) Strike and lockout
(b) Industrial tribunal
(¢) Court of enquiry
(d) Code of discipline
(e) Grievance procedure
() National tribunal (5 marks each)
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